% Bwla £ R"— R™ n AR5 n
) 175\

@ %g\cﬁ/’/g’fgﬁ N 7#4&&’(%

l(eH\e ( IVV\AS.Q_,

Def (FeT%)
e §:R— R =i
Ker(£) = {xeR" \ foo=0yc R”
£ Lo 7 b d 34
Y= {fon e | xe R} < R”

t ¥ o0 1% s,

AN




Ex 4. @ — R®
W

QD

X
Ff; i (‘ = 4)()&)
X3 T[T X3
= A >

eTwf) = {Hoder | xe R c p?
= lAxer [ xeR§ <R®

Foo) = (L2 4) (32)

:(v_\ —2X2 + € X3 3
—X 42Xz —4X3

= Y|, (l‘) R Y’—(i) ™ 13(‘4(4)
(o) van(‘:g) = g }1\("\3*1’2 (_é > 2 13(5—4) \1‘#@2;;\3

= QPO&\A((—(\); 3), (:)5 < R?

% Tem(4) > RZ o 5 A9 ki R RE



(B)-= (1) (1)
—  Ke($) = {‘C(i)*u\(_?)\ —t,qelR}

- SF”“(( s (“?]) < IRY

Ve )
— YR SEL

% Ker($) 13 RPa 25 A bR

Pop w212 £ R — " 2 Sz
e Tn($) 13 R™ o RFS AR

e Ker () © R" on 35 Anhie TRY
7

[
éj‘@(-ﬁ—’//gf& —§-_ \Ph_* IQ‘M (= DWW

i (T (£ « dim(Kef)) = 1N

4 N>,

-




() = S (D), (2))
' IW\({) = gPah((_'l)>
~ dim (Tm(£5)) + dim (ICor (£))
= l + 2

=) 3 = dil/v\ (!Q3)

?::\I/

PR 13 &z 3ne

(
exe. Uﬂ=(g>,m=(?) ,v3=(.3> e R

£ 0% = R 8w T2

0
sam = (), Frw=(3) , famp= )
W Fa (W m, s = FARLRRTIS A TSy,

2) T (£) < Kan($) oy 228 $ens.



() Aik o = (x;> e =

r>

XS AW A AU+ AW E3RED A, NMER

T <.
| A= X
& 'xz_> = |'t?\’2‘ ) & ) Az=x3
o Az= L+A2 —X2

- X+ Ys—xz
= X, uw, t I%-QY?_ + (x40 =X\ U 3
e Ty = LW W 4+ (Y2 U )

= | X .:(, (W)t X3 '.?(m) + (- X2) 'S‘h’i)
(L, @)

0 O
= X (——1) * X3 (’;()"‘ (X, X3—"2) (—5)
=X —xLr3 —\Z\"‘r%—t X2
3

= -~y
( ~ 2%, 42 =23 \

T3

-0 0 X\ -1 0 ¢
=1 =2 [y g (zz> A’(*l | -2 )
O 6 | X © o0 |



@) Ko (§)= { xerR®|Fon= o}

~ (3R E)
((eh(:f) = SporC@) = j)@)& (0\4\,7,_:_)
Ble L
T =

*j_*f()@)él@k xe(e?’}
! Ax ( xer®y

L= (3)~r(§)on(3) | mme

€ IR

AT WA Tn (5108
—_Y—

——

SRR
AEN

Y



